Key for Quiz II; F5360; Summer, 2000

1.  What is a preemptive right? right to buy new shares of common in proportion to current ownership

2.  How are shares issued via a rights offering?  

(1)  S/H receive 1 right for each share owned.

(2) S/H can sell right or exercise rights (give up N rights, $X, & receive 1 new share).

3.  What evidence do we have that an agency conflict does in fact exist between stockholders and bondholders?  

(1) Most indentures include restrictive covenants and provisions for monitoring

(2) bond prices fall when dividends increased

4.  What are two ways that debt helps resolve conflict between stockholders and managers?  Two of:

1)  Takes discretionary cash out of mgt. hands through required debt servicing.

2) Allows for concentration of ownership in management's hands.

3)  Keeps management’s feet to the fire

5.  Assume there are 5 firms with identical expected cash flows from operations and identical current levels of debt.  Assume also that the expected tax savings for an additional dollar of interest paid is lowest for firm 1.  What characteristic of firm 1 would cause it to have the smallest tax savings?  Most volatile earnings

6.  Assume that two firms have identical assets that produce identical expected cash flows.  Assume also that the market value of these assets is $400,000.  Finally, assume that Firm #1 is funded entirely with equity while Firm #2 is funded with $150,000 of debt and with equity.  How would you duplicate the payoff from investing in Firm #2’s equity by using the equity issued by Firm #1?  Buy stock in firm #1 then borrow $1.50 for every $4 of stock I buy.

7.  What is the significance of the ex-dividend date?  If buy on ex-dividend date do not receive the next dividend.

Use the following information to answer questions 8 and 9.

Clumdee Corp. has 5 stockholders as follows:

Name
Shares
Tim
25,000

Greg
15,000

Sally
30,000

Jane
20,000

Kelly
50,000
Total
140,000

Clumdee’s shares have a current market value of $80 per share but Clumdee is expecting to repurchase 20,000 shares for $100 each.

8.  What is the value per share for the firm’s stock after the repurchase?  
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9. If the firm repurchases shares by issuing one transferable put right for every outstanding share, what is the value of each put? 
[image: image2.wmf]000

20

000

140

67

76

100

33

3

,

,

.

.

-

=


10.  If we assume perfect capital markets, homogeneous expectations, optimally fixed investment and that any surplus cash has been paid out to stockholders as a dividend, then stockholders will view dividends as irrelevant.  Give a very short explanation of why stockholders will view the dividend as irrelevant.  Value of stock drops by amount of dividend, thus (Any of):  (1) wealth unchanged, (2) can create own dividend by selling shares, or (3) can take cash from dividend to repurchase shares.
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